Vd max = N5V
Idmax =05mA

Ryemin 750

¥ i

EHT
Va inv, p=max 25kV

' ¥
lap=max 11mA 04

max

EHT

Va inv p=max 78kv

9/
[lp: max 10mA

EHT

Va inv p=mMmax 26kv
llp=mal S50mA

EHT i ’
Vainv ;=max 18KV /
10/

Iap= max 10mA

EHT

Va Iny pEmax 22kV
lap= max. 45mA

nl 0
=

48
o
:|/.° ‘% f
Ny o/
a8
BIA

Vd m’al =1V
1d max =ImA

Ryemin




Ry=min

EHT

Va invp=max 35kv
lap=ma: 80mA

Rg=min

3
ZOG'

0 O
1 L

uxé

EHT
Vainv.p=max 18kv

[ap:max 80mA

EHT
Va inv.p=max  30kV

Iap=mal BOmA

8
1.0,

Vdmax = 150 V
Idmax = 9mA

Rt-mm.son




R¢=min. 150 1L

R¢=min. 75N

ax 32y

max 32y

v

Ry=min 50 N

Ry=min 750

| Ry=mmn.50N

]

TllJ?p




R g =min. 7501

0

Ry=min, 5001

1
ELLES

ax.40p

Vd max.= 117V
Idmax.=9mA

4

2%0%
20 -3
s |

B76

v

e 5
090
o o7

o
25 o0
1 9

Vdmax. =17V
[dmax =12mA

5

B9A

BOOSTER
va inv, =max. 45kV
lap=max. 1050mA

Vdmax. =117V
Idmax =9mA

o

A% s
9
BYA

BOOSTER
Vainv, =max. §,4kV
Iap=max.750mA

Ve ]
(o~ o\e
Qo
POy
0

1

10

BOOSTER
Va invp =max. 4,5kV
lag=max. 1,2A




Vd max = 100V
Idmax =4mA

vd max.:150V
Id max.«8mA

BOOSTER
Va inv, =max 6kV
lap=max 800 mA

|R¢=min. 450

L
[0

R¢=min. 150

&

3
20 e 6
205

B7G

Rg=min.1500

max.,

max.)

<]




R¢=min. 250N

d max.:150V
Id max. = BmA

Ry¢=min. 15001

Rt-mln. ™n

4
G0
Yo
®
A
1 ]

@

Vd max =117V
Id max.= 9mA

BOOSTER
Va invg =max. 44kV
Iap=max. 750mA

jjo Q\g
DQO
R0 s
1
Lo

Vd max.=150V
Id max.-8mA




R¢=min. 15011

Rg=min. 1501

BOOSTER
Vainvg =max 45kV
lap=max 105A

BOOSTER
Va invp =max. 44 kV
lap=max 750mA

17A X4 supplement

min_> min. 4




max. 40u

»




Ry=min. 500

Ry=min. 501

R {=min.10011




R y=min. 2 x100/1

Vd max.= 270V
Idmax =5mA

Vdmax =150V
Idmax =08mA

Vd max.= 150V
Id max=0.8mA

Ry=min. 200N

max.6hp




